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QID : 1 - If the unit digit of 433 x 456 x 43N is (N + 2), then what is the value of N?

I 433 x 456 x 43N & SFHS 3 (N + 2) ¥, A N 7 AT & 2
Options:

1)1

2)8

3)3

4)6

Correct Answer: 6

Candidate Answer: 6

QID : 2-If N = (12345)% + 12345 + 12346, then what is the value of VN?

FfE N = (12345)2 + 12345 + 12346 &, AT VN &1 A1 a7 &2

Options:
1) 12346
2) 12345
3) 12344
4) 12347

Correct Answer: 12346
Candidate Answer: 12346

QID : 3 - Which of the following statement(s) is/are TRUE?

1. (0.03/0.2) + (0.003/0.02) + (0.0003/0.002) + (0.00003/0.0002) = 0.6
11. (0.01) + (0.01)2 + (0.001)? = 0.010101

afaf@a & o 9 a1/ sy a7 §/8?

1. (0.03/0.2) + (0.003/0.02) + (0.0003/0.002) + (0.00003/0.0002) = 0.6
I1. (0.01) + (0.01)2 + (0.001)? = 0.010101
Options:

1) Only I

Fae I

2) Only II

Fad 11

3) Neither I nor II

FATITEII

4) Both I and II

1 9 11 et

Correct Answer: Both I and II

1 27 II gt
Candidate Answer: [ NOT ANSWERED ]

QID : 4 - What is the value of 1/(0.1)2 + 1/(0.01)? + 1/(0.5)? + 1/(0.05)2?

1/(0.1)? + 1/(0.01)2 + 1/(0.5) + 1/(0.05)? &1 AT T &2
Options:

1) 10504

2) 10404

3) 10004

4) 11400

Correct Answer: 10504

Candidate Answer: 10504
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QID:5-
Which of the following statement(s) is/are
TRUE?

. [1 i 1}[1 = 1][1 i 1].,.[1 i i] - 497
) ) 998
3 1 .1 .1 ..3 _1

. 14— +5—-2—>11-+12—-7—
4 4 2 8 8 4

faratai@d 7 ¥ HiT T/ Fad 97 8727

T S T e
2 "3 998
.4 g 3 1

1
I 18£8 2o T 2T

Options:

1) Only I

Fae I

2) Only II

Fhael 11

3) Neither I nor II
AAIAEII

4) Both I and II

I g2 II &t

Correct Answer: Both I and II
I ar 11 et

Candidate Answer: Both I and II
I a2 11 gyt

QID: 6 -
Which of the following statement(s)
is/fare TRUE?

3 9 T
< <
110 308 225
1 2 3 6
I. 99?+99?+99?+.,...,99?=279

Fafaf@a § ¥ &9 O/d FU9 T

e/e?

8 g . 7
<L — <

110 ~ 308 ~ 225

. 991,092,903, 99°-279
R 7

Options:

1) Only I

Fad I

2) Only II

ol 11

3) Neither I nor II
FArITEII

4) Both I and II

I @ 11 gt
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Correct Answer: Both I and II
1 7 11 &t
Candidate Answer: [ NOT ANSWERED ]

QID:7-

If f(x)= o L then what is the value of
X x+1

() +f2)+R3)+...... f(10)?

TR ()=t —— & ar 1)+ 2) + A3)

X Xx+1
+o, f(10) T AT FIT 872

Options:

1) 9/10

2) 10/11

3) 11/12

4) 12/13

Correct Answer: 10/11
Candidate Answer: 10/11

QID: 8- If N = 411 4 412 4 413 4 414 then how many positive factors of N are there?

RN = 411 + 412 4 413 4 414, Y N & forcey gaiTess TquTeTEos §?
Options:

1) 92

2) 48

3)50

4) 51

Correct Answer: 92

Candidate Answer: 48

QID:9-IfN = 99, then N is divisible by how many positive perfect cubes?

FfE N = 99 &, ar N, v eeircAs &t @ s &2
Options:

1)6

2)7

3)4

4)5

Correct Answer: 7

Candidate Answer: 6

QID :10 - If N = 314 + 313 - 12, then what is the largest prime factor of N?

afer N = 31 + 313 - 12 §, A N &7 T8 T3 H3T UGS 7T §?
Options:

1) 11

2)79

3) 13

4)73

Correct Answer: 73

Candidate Answer: [ NOT ANSWERED ]
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QID:11-
Which of the following statement(s)
isfare TRUE?

. 121+ 12321+ 1234321 = 1233
. 064 +64+36+/0.36=>15

Fafaf@a & O g aurd sua e
g/8?
[ 121412321 +1234321 =1233

.  0.64++64+.36+/0.36>15

Options:

1) Only I

Fael I

2) Only II

Sl 11

3) Neither I nor II
AAIAEII

4) Both I and II

I g2 II &t
Correct Answer: Both I and II
I 11 et

Candidate Answer: [ NOT ANSWERED ]

QID:12-
What is the value of

(2“‘@]*[2:\@}*[_2_15}*[2‘&)?

)+ () (g 25

& AT F4T g2

Options:

1)2

2)4

3)8

4)6

Correct Answer: 6
Candidate Answer: 6

QID : 13 - The sum of two positive numbers is 14 and difference between their squares is 56. What is the sum of their squares?

& YTTcHS TEATHT T AT 14 & TAT 3eTeh a7 & HET HT 37X 56 &1 3T a7 T JN9T AT &7

Options:

1) 106

2) 196

3)53

4) 68

Correct Answer: 106
Candidate Answer: 106

QID : 14 - What is the value of 10062 — 1007 x 1005 + 1008 x 1004 — 1009 x 1003?

10062 — 1007 x 1005 + 1008 x 1004 — 1009 x 1003 &I AT FaT &2
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Options:
1)6
2)3
3) 12
4) 24
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID:15-If a2+b2=4b+6a- 13, then what is the value of a + b?

afza? + b2 =4b + 6a— 13§, dra + b &I AT FATE?

Options:

1)3

2)2

3)5

4) 10

Correct Answer: 5

Candidate Answer: 5

QID : 16 - x and y are positive integers. If xX* + y* + x2y2 = 481 and xy = 12, then what is the value of X2 — xy + y2?
X TUT y U EeTTeates quiter &1 afg x* + y* + x?y? = 481 qurxy = 12 §, @V x? — xy + y? &1 A1 F71 &?
Options:

1) 16

2) 13

3)11

4) 15

Correct Answer: 13

Candidate Answer: 13

QID:17-IfA=1+2Pand B = 1 + 2P, then what is the value of B?

FEA=1+2PquaB=1+2P¢ BRI AT FATE?

Options:

1)(A+1)/(A-1)
2)(A+2)/(A+1)
3)A/(A-1)

4)(A-2)/(A+1)

Correct Answer: A/(A-1)
Candidate Answer: A/(A-1)

QID : 18 - If a and b are roots of the equation ax? + bx + ¢ = 0, then which equation will have roots (ab + a + b) and (ab —a - b)?

e a Tur b GHEeoT ax? + bx + ¢ = 0 & el &, o frT THHIUT & Hef (ab + a + b) AT (ab — a — b) glar?
Options:

1)a®? + 2acx + 2 + b2 =0

2)a%x?-2acx +c2-b2=0

3)a2x?-2acx + 2 + b2 =0

4)a%? + 2acx + 2 - b2 =0

Correct Answer: a%x? — 2acx + c2 =b%= 0

Candidate Answer: a?x? — 2acx + c2—b? = 0

QID: 19 -

if f(1-p?)(1- %) = % then what is the

value of 1‘{2;:-2 +2¢° +2pq +\{2p2 +2q9% -2pg ?

a (P (- =22 &

Jsz +29%+2pg + szz +2q% -2pq
F AT F4T 87
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Options:
1)2
2) V2
3)1
4) None of these
ST W IS AT
Correct Answer: V2
Candidate Answer: V2

QID : 20 - If (a + b)2 — 2(a + b) = 80 and ab = 16, then what can be the value of 3a — 19b?

e (a + b)2 - 2(a + b) = 80 FUT ab = 16 &, A 3a — 19b T AT FAT & FehaTl &?
Options:

1)-16

2)-14

3)-18

4)-20

Correct Answer: — 14

Candidate Answer: — 14

QID: 21 - If X/*Z = 1, y**Z = 1024 and Z**Y = 729 (x, y and z are natural numbers), then what is the value of (z + 1)Y+**1?

Ty Y42 = 1, y¥*7 = 1024 FAT XYY = 729 (x, y TUT 2 WA FEAC §), & (z + 1)V @7 A 777 82

Options:
1) 6561
2) 10000
3) 4096
4) 14641

Correct Answer: 10000
Candidate Answer: 10000

QID:22-Ifx+y+z=1,x2+y2+2z2=2and x3 + y3 + 23 = 3, then what is the value of xyz?

AREXx+y+z=1, X +y2+2=2amx3+y  + 23 =3¢ A xyz M AFT FT&?
Options:

1) 1/3

2)1/6

3)1/2

4) 1/4

Correct Answer: 1/6

Candidate Answer: 1/6

QID : 23 - In triangle PQR, the internal bisector of ~Q and 2R meets at O. If ZQPR = 70°, then what is the value (in degrees) of 2QOR?

8T PQR #, £Q T £R T 31TaRe gfastmersh O WX fAera &1 f& 2QPR = 70° ¥, A 2QOR & |reT (f3af #) = 2
Options:

1) 45

2) 125

3) 115

4) 110

Correct Answer: 125
Candidate Answer: 125

QID : 24 - PQR is a triangle such that PQ = PR. RS and QT are the median to the sides PQ and PR respectively. If the medians RS and QR intersect at right angle,
then what is the value of (PQ/QR)??

PQR 38 YR Ta 33751 & fF PQ = PR &1 RS T QT &2r: $[oM3it PQ 7T PR o AT | AT AT RS @7 QR HHHIUT R 9faede atel &, ar (PQ/QR)? &1
HI T §?

Options:

1)3/2

2)5/2

3)2

4) None of these

ST § PIS 8T
Correct Answer: 5/2
Candidate Answer: 2
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QID: 25 - PQR is a triangle. S and T are the midpoints of the sides PQ and PR respectively. Which of the following is TRUE?

1. Triangle PST is similar to triangle PQR.
II. ST = 1/2(QR)
III. ST is parallel to QR.

PQR Te: 81T &1 S T T Shaer: $ISTI31 PQ 7T PR & #1ed fowg &1 Te=ifaif@d & & et &1 & 87

L. T8t PST, 33157 PQR & HAT &
II. ST = 1/2(QR)

III. ST, QR & THK ¢l

Options:

1) Only I and II

Shaer I o 11

2) Only IT and III

haer IT qr 111

3) Only I and III

hael [ T 11

4) All 1, IT and III

1, IT 2 11T |sfY

Correct Answer: All I, IT and III
1, I1 T 111 &Y

Candidate Answer: All I, II and III
1, II a2 111 Gsfr

QID : 26 - ABC is a triangle in which ZABC = 90°. BD is perpendicular to AC. Which of the following is TRUE?

1. Triangle BAD is similar to triangle CBD.
II. Triangle BAD is similar to triangle CAB.
III. Triangle CBD is similar to triangle CAB.

ABC weh f81eT & TSreet LABC = 90° €1 BD, AC TR o | faie=iforfera #f & et & §ed 72

1. 37T BAD, f381T CBD & ## &1
11. F3{T BAD, f3335T CAB & | Bl
I11. 3837 CBD, f¥e7sT CAB & | ¢
Options:

1) Only I

Fael I

2) Only IT and III

haer 1T qr 111

3) Only I and III

hael [ a1

4) All 1, IT and III

1, IT 2 111 @i

Correct Answer: All I, IT and III

1, I1 T 111 &Y

Candidate Answer: All I, IT and III
1, IT 2 111 |sfY

QID : 27 - Two parallel chords are one the one side of the centre of a circle. The length of the two chords is 24 cm and 32 cm. If the distance between the two
chords is 8 cm, then what is the area (in cm?) of the circle?

2 FATR AT T Jed & Fog &1 T AN §1 QA Shanait & ears 24 .70 For 32 .3, §1 g At Shanait & wvear 8 .. gl §, A gead & avawet (.72 )
FATE?

Options:

1) 724.14

2) 832.86

3) 924.12
4) 988.32

Correct Answer: 832.86
Candidate Answer: 832.86

QID : 28 - Two circles of radius 4 cm and 6 cm touch each other internally. What is the length (in cm) of the longest chord of the outer circle, which is also a
tangent to inner circle?

4 9.7, 7T 6 .. T arel &Y ged U gAY FI 3HET U Bl § | S1E Jod T HaH oIl ST ST 37T ged hr e ¥@r o g, i o (A 7) w2 g?
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Options:
1) 12v2
2) 8v2
3) 6v2
4) 42

Correct Answer: 8v/2
Candidate Answer: 8v2

QID: 29 -
In the given figure, PT is a common tangent to
three circles at points A, B and C respectively.

The radius of the small, medium and large
circles is 4 cm, 6 cm and 9 cm. Oy, O; and Oy

are the centre of the three circles. What is the
value (in cm) of PC?

& s i & PT &9 geat W A=
famgat wAe: A, B Fur C W 3wafass
ygeael Y Bl o, Few Fur wew a2 gedi
#r B 4 @5, 6 aA w9 A 7
Oy, O, d4T O; il Jedl & Fog 81 PC &I
A (@A 7)) T @2

Options:

1) 18V6

2) 9vV6

3) 24V6

4) 15V6

Correct Answer: 18V6

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - PQRS is a cyclic quadrilateral. PR and QS intersect at T. If 2SPR = 40° and 2PQS = 80°, then what is the value (in degrees) of ~PSR?

PQRS T Tshg ISt ¢l PR T QS, T WX wfcredg &Yl 81 A 2SPR = 40° T £PQS = 80° §, £PSR &r AT (33 &) wrar 872
Options:

1) 60

2) 40

3) 80

4) 100

Correct Answer: 60

Candidate Answer: 60
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QID: 31-
In the given figure, /PSR = 105" and PQ is
the diameter of the circle. What is the value
(in degrees) of ZQPR?

& S WHfT H, ZPSR = 105° Fuar PQ
ged H AW Tl LZQPR & AT (f3afr #)
FT 872

Options:

1) 75

2) 15

3) 30

4) 45

Correct Answer: 15
Candidate Answer: 15

QID : 32 - There are two identical circles of radius 10 cm each. If the length of the direct common tangent is 26 cm, then what is the length (in cm) of the
transverse common tangent?

10 A7, s arel & gaEwd god €1 I 39raforss sreeae Y@ it orerg 26 9. , A 33rafarss foden sreqedel Y@ i orwars (@ &) w2 g

Options:

1) 2v69

2) 4v/23

3) 446

4) 3v46

Correct Answer: 269

Candidate Answer: 269

QID : 33 - PQRS is a rectangle in which side of PQ = 24 cm and QR = 16 cm. T is a point on RS. What is the area (in cm) of the triangle PTQ?

PQRS Ueh 31Tt ¢ Torgeht $[oT PQ = 24 @Y. TT QR = 16 W ¥ &g T, RS W &1 8ot PTQ a1 &¥ather (J.71. &) Far 872
Options:

1) 192

2) 162

3) 148

4) Cannot be determined

AT AT fohaT ST Fhar

Correct Answer: 192

Candidate Answer: 192
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QID:34-

In the given figure, ABCD and BEFG are
squares of sides 8 cm and 6 cm
respectively. What is the area (in cm?) of
the shaded region?

& wE aRfa #, ABCD duwr BEFG
hE: 8 WAL TUT 6 WAL oo AT Tl
gl 3olicd T & &aa%ha (W2 H)
T 72

Options:

1) 14

2) 12

3)8

4) 16

Correct Answer: 12
Candidate Answer: 12

QID : 35 - PQRS is a parallelogram and its area is 300 cm?. Side PQ is extended to X such that PQ = QX. If XS intersects QR at Y, then what is the area (in cm2) of
triangle SYR?

PQRS U& HHTa TGSt & AT 3THT 819%e 300 .72 &1 $[ST PQ &Y X A 30 ¥ Faran 1T f PQ = QX &1 AfE XS, QR & Y WX Fea &, at P3ST SYR 7 a1
@2 F

Options:

1) 75

2) 50

3) 120

4) 100

Correct Answer: 75
Candidate Answer: 75

QID : 36 - PQRST is a regular pentagon. If PR and QT intersects each other at X, then what is the value (in degrees) of £TXR?

PQRST Ueh &H T3feT &1 ITE PR AT QT Ueh G T X WX Wichesia el 8, ol 2TXR a1 &1 (T3l ) /am 2
Options:

1) 98

2) 90

3)72

4) 108

Correct Answer: 108

Candidate Answer: 108
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QID:37-
In the given figure, ABCDEF is a regular
hexagon whose side is 12 cm. What is the
shaded area (in cm?)?

&1 e T A, ABCDEF T §H Wee[sl
g o o 12 daf. g seonfea smr
F S (WAT2 H) @ g2

B C
ardrg
F E
Options:
1) 543
2) 36V3
3) 483
4) 52V3

Correct Answer: 54v/3
Candidate Answer: [ NOT ANSWERED ]

QID:38-

ABCD passes through the centres of the
three circles as shown in the figure. AB = 2
cm and CD = 1 cm. If the area of middle
circle is the average of the areas of the other
two circles, then what is the length (in cm) of
BC?

St & ampfa F axfar wmam §, ABCD et
godl & Fewl F IS 81 AB =2 FAL
dur cD =1 & § I AeF g &
890, Y Sl Jeal & &Amel Bl HES
g, dF BC #r ora1g (A #H) w82

Options:

1) (V6) -1

2) (V6) +1

3) (V6)-3

4) (V6) + 3

Correct Answer: (V6) — 1
Candidate Answer: (V6) + 1
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QID : 39 - A = Area of the largest circle drawn inside a square of side 1 cm.

B = Sum of areas of 4 identical (largest possible) circles drawn inside a square of side 1 cm.
C = Sum of areas of 9 identical circle (largest possible) drawn inside a square of side 1 cm.
D = Sum of area of 16 identical circles (largest possible) drawn inside a square of side 1 cm.

Which of the following is TRUE about A, B, C and D?

A = 1 Q.#. ST AT F97 H FIH 73 Fool FT STl |

B = 1 A7, 87T arel &3 3 4 FHET ool (HSH T3 YA o & Thedl T A1T|
C = 1 Q&0 §T aTel 931 & 9 THAKY Jecil (T I3 HHA) & &1l 1 FT|
D = 1 4.7, ofofm arel a9 & 16 HAEY Jocll (FH o3 Herd) & &TTell 1 17|

Arfaf@T A T A, B, CTUTD & aR H Hied G Hed &7

Options:
1)A>B>C>D
2)A<B<C<D
3)A>B=C>D

4) No option is correct.

1S faehoy w1t 81

Correct Answer: No option is correct.
F1$ ashed TET 16T B

Candidate Answer: [ NOT ANSWERED ]

QID : 40 - A prism has a square base whose side is 8 cm. The height of prism is 80 cm. The prism is cut into 10 identical parts by 9 cuts which are parallel to base
of prism. What is the total surface area (in cm?) of all the 10 parts together?

U A &1 3R g4 § foraehr spom 8 Ao, &1 fow 1 Jarg 80 A 1 s 1 3MUR & FAI 9 Ferdl § 10 $19M 3 el | 10 A1l &1 Fof AT Hel JeorT
&yl (.71.2 &) Far 2

Options:

1) 4260

2) 2560

3) 3840

4) 3220

Correct Answer: 3840
Candidate Answer: [ NOT ANSWERED ]

QID : 41 - A cone of radius 90 cm and height 120 cm stands on its base. It is cut into 3 parts by 2 cuts parallel to its base such that the height of the three parts
(from top to bottom) are in ratio of 1 : 2 : 3. What is the total surface area (in cm?) of the middle part?

T 90 F.70. Foam aum 37er$ 120 @3, FerS aTel A% 39+ IR W WST &1 $U JTUR & FAICR 2 Hield ¥ 3 HEN H 38 FohR FHIel Sl ¢ & ol o797t 7 S (FR
Y A Y 30T) T I 12 2 : 3 E| A T 5T Tt TSR At (F.31.2 ) §?

Options:

1) 14600

2) 16500

3) 17800
4) 18500

Correct Answer: 16500
Candidate Answer: [ NOT ANSWERED ]

QID : 42 - The curved surface area of a cylinder is 594 cm? and its volume is 1336.5 cm3. What is the height (in cm) of the cylinder?

T oleT T % SOIT 81Tl 594 W.HN.2 § T 38eT e 1336.5 W73 &1 doret v Far$ (@7 ) Fr 2
Options:

1) 14

2) 21

3) 24.5

4)105

Correct Answer: 21
Candidate Answer: 10.5

QID : 43 - A hollow cylinder is made up of metal. The difference between outer and inner curved surface area of this cylinder is 352 cm?2. Height of the cylinder is
28 cm. If the total surface area of this hollow cylinder is 2640 cm?, then what are the inner and outer radius (in cm)?

T T U TG ofeT ToTTaT 3T §| oI & FTed TUT HdANa a5 TS0 81Tl & 7 352 W2 F1 AR &1 o &1 Fans 28 .o, §1 A 50 Wiger doiet &1 Fea
TEERT 8T 2640 .72 §, A Soret &Y 3aRes qar e e (@, §) w=rg?
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Options:
1)4,6
2) 10, 12
3) 8, 10
4)6,8
Correct Answer: 6, 8
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - A solid metal sphere has radius 14 cm. It is melted to form small cones of radius 1.75 cm and height 3.5 cm. How many small cones will be obtained
from the sphere?

Te 7] F O Aot T ST 14 .. §1 3% RrgemaR 1.75 @3, Frswr qur 3.5 A, Jers arer gt #F S ) e § fhde o1 AF T ST R 82
Options:

1) 512

2) 256

3) 1024

4) 2048

Correct Answer: 1024
Candidate Answer: 1024

QID : 45 - A metallic hemispherical bowl is made up of steel. The total steel used in making the bowl is 342n cm3. The bowl can hold 144n cm3 water. What is the
thickness (in cm) of bowl and the curved surface area (in cm2) of outer side?

SEAT & T T T LIS FHERT TATT I §| FER P FA1et 3 Fool 3420 F.37.3 ST T AT T a1 &1 RT3 144n F.7.3 Fr 31 Fahell §1 FER T ACTS
@3, #) T aTEd TdE F aw TSO e (F.3.2 ) Fw 2

Options:

1) 6, 162n

2) 3, 162n

3)6, 81n

4) 3, 81n

Correct Answer: 3, 162n

Candidate Answer: 3, 162n

QID : 46 - There is a box of cuboid shape. The smallest side of the box is 20 cm and largest side is 40 cm. Which of the following can be volume (in cm3) of the
box?

AT ITHR HT T T §| T T Ta& SIE 3T 20 F.3Y. T T 31 3757 40 .71 &1 oafaf@a F & s &1 maaer (@.340.3 ) 72w o werer 82

Options:
1) 18000
2) 12000
3) 36000
4) 42000

Correct Answer: 18000
Candidate Answer: 18000

QID : 47 - A pyramid has a square base, whose side is 8 cm. If the height of pyramid is 16 cm, then what is the total surface area (in cmz) of the pyramid?

we RTfAs &1 3R a9t § foraehr ofet 8 .. B afe Aufds & F=rs 16 A ﬁﬁ?@gwgﬁrwm(ﬁ.ﬁ.z ) Fr §?
Options:

1) 64(V17 + 1)

2) 32(V13 + 1)

3) 64(v3 + 1)

4) 32(V5 + 1)

Correct Answer: 64(V17 + 1)

Candidate Answer: 64(V17 + 1)

QID: 48 -

_ 2(1-sin” 6)cosec’ 6
What is the value of -17
cot? 0[1 +tan? 0)

2[1 — sin? 8)cosec2 3
cot’6(1+tan’6)

—1 & AT F4T 82
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Options:

1) sin 26

2) sin%6

3) cos26

4) cos 26

Correct Answer: cos 20
Candidate Answer: cos 26

QID: 49 -
What is the value of

cos2A+2cos’ A-2cos 2A cosA
sin2A — 2sin® A sin 2A

l?

c0S2A +2cos’ A—2cos 2A cosA
sin2A — 2sin® A sin 2A

T AT &7 g2

Options:
1) 2 cotA
2)2tan A
3)cotA
4)tan A

Correct Answer: tan A
Candidate Answer: [ NOT ANSWERED ]

QID : 50 - What is the value of cos 15° — cos 165°?

cos 15° — cos 1659 T AT T §7?

Options:

1) V3/v2
2)2/(V3-1)
3) (V3 + 1)/ V2
4) (V3 +1)/2

Correct Answer: (V3 + 1)/ V2
Candidate Answer: (V3 + 1)/ V2

QID:51-If P+ Q + R = 60°, then what is the value of cos Q cos R (cos P — sin P) + sin Q sin R (sin P — cos P)?

IfE P+ Q + R =60°%, a cos Q cos R (cos P — sin P) + sin Q sin R (sin P — cos P) & &l F4T §?
Options:

1)1/2

2) V3/2

3) 1/V2

4)v2

Correct Answer: 1/2

Candidate Answer: 1/2

QID : 52 - What is the value of [1 — tan(90 — 8)]%/[cos?(90 — 8)] — 1?

[1 — tan(90 — 6)1%/[cos?(90 — B)] — 1 T HIeT T &2
Options:

1) —sin 26

2) — cos 26

3) cos 26

4) sin 26

Correct Answer: — sin 26

Candidate Answer: sin 26

QID : 53 - What is the value of [1 + 2 cot? (90 - x) — 2 cosec (90 — x) cot (90 — x)]/[cosec (90 — x) — cot (90 — x)]?

[1 + 2 cot? (90 — x) — 2 cosec (90 — x) cot (90 — x)]/[cosec (90 — x) — cot (90 — x)] T HIT T §?
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Options:

1) cos x + sin x
2) Sin x — cos X
3) sec x + tan x
4) sec x — tan x

Correct Answer: sec x + tan x
Candidate Answer: sec x + tan x

QID : 54 - What is the value of sin (180 — 8) sin (90 — 8) — [cot (90 — 6)/1 + tan207?

sin (180 — 6) sin (90 — 8) — [cot (90 — 6)/1 + tan20] & Al FT &?
Options:

1) cos?6 sind

2) cotB/(1 + cot?6)?

3) tan6/(1 + tan26)?

4) sin20 cosb

Correct Answer: cotf/(1 + cot20)?

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - A pole is standing on the top of a house. Height of house is 25 metres. The angle of elevation of the top of house from point P is 45° and the angle of
elevation of the top of pole from P is 60°. Point P is on the ground level. What is the height (in metres) of pole?

T B T AN I Ueh TFAT W7 ¥ B T Fars 25 #ieT 81 g P & 6 Y =EY T 3Tl 10T 45° § 7T P & TEs Y e &l So1diat 107 60° §1 gy P ogfdr by
g W & TFEN H Fars (Fex /) Faw 2

Options:

1)10 (V3 +1)

2)15 (V3 + 1)

3)25(V3-1)

4)20(V3-1)

Correct Answer: 25 (V3 - 1)

Candidate Answer: 25 (V3 - 1)

QID : 56 - A ladder is placed against a wall such that it just reaches the top of the wall. The foot of the ladder is at a distance of 5 metres from the wall. The angle
of elevation of the top of the wall from the base of the ladder is 15°. What is the length (in metres) of the ladder?

WWW%WWW@%%%MﬁMWW%l I T TR I § 5 AT & gt W g1 WéY & 3R & EgR 1 e &7 3ot de 1T 150 |
Y T TS (FHeX H) Fam

Options:

1) 5V6 - 5V3

2) 5v6 — 5v2

3)5v2-1

4) 5V3 + 5v2

Correct Answer: 5v6 — 5v2

Candidate Answer: 5v6 — 5V2

QID : 57 - An aeroplane is flying horizontally at a height of 1.8 km above the ground. The angle of elevation of plane from point X is 60° and after 20 seconds, its
angle of elevation from X is become 30°. If point X is on ground, then what is the speed (in km/hr) of aeroplane?

TS gaTS STET (A U 1.8 . & FaS oX 33 T &1 o5 X & STET 7 3ewraer hioT 60° § AT 20 WeHUS URET X H SowTreT HI0T 30° g1 AT §| A g X o7 ®
g, ar gar$ STeTer & ATy (R, /e &) Far 2

Options:

1) 216v3

2) 1053

3) 201v3

4) 305v3

Correct Answer: 216V3
Candidate Answer: 216v3
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QID : 58 -

The table given below shows the production of maize by

5 different states as a percentage of total production.

Each state produces conly maize and rice. There are

three types of rice — R1, R2 and R3. The table also

shows the R1 type of rice produced as a percentage of

total rice production and the ratio of R2 and R3 type of

rice. Total production by each state is 625000,

#@r & o aferr 5 fafdesr o=t earwr fvr T w755
¥ ITNEA F FA 3eNeA F Gawd FFT F gl
Tl Yo TsT FId HFHI JUT TES FH & oued
FAT E TET F I TP - R1, R2 FUT R3 €| @
afeF R1 9FR ¥ I1ae F 396 H Fol TG F
INEA ¥ Siavd & ® # Ut ¥ FUT R2 FUT R3
YER ¥ TEE F NGO QA § THE T
ZAT F 3eEA 625000 ¥

State / T=T Maize /| AFHT | R1 R2:R3
H 32% 60 6:11
R 62% 60 9:10
X 52% 60 3:5
s 52% 55 4.5
T T4% 80 3:10

What is the difference between the R1 type of rice produced by state X and the R2 type of rice produced by state H?

TSI X GART 3cdTed R1 SR & ATl 4T Tod H GaRT 3cuifed R2 YR & aTael & FET 47 e 6?2

Options:

1) 115000

2) 120000

3) 55000

4) 65000

Correct Answer: 120000

Candidate Answer: [ NOT ANSWERED ]
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QID : 59 -

The table given below shows the production of maize by

5 different states as a percentage of total production.

Each state produces conly maize and rice. There are

three types of rice — R1, R2 and R3. The table also

shows the R1 type of rice produced as a percentage of

total rice production and the ratio of R2 and R3 type of

rice. Total production by each state is 625000,

#@r & o aferr 5 fafdesr o=t earwr fvr T w755
¥ ITNEA F FA 3eNeA F Gawd FFT F gl
Tl Yo TsT FId HFHI JUT TES FH & oued
FAT E TET F I TP - R1, R2 FUT R3 €| @
afeF R1 9FR ¥ I1ae F 396 H Fol TG F
INEA ¥ Siavd & ® # Ut ¥ FUT R2 FUT R3
YER ¥ TEE F NGO QA § THE T
ZAT F 3eEA 625000 ¥

State / T=T Maize /| AFHT | R1 R2:R3
H 32% 60 6:11
R 62% 60 9:10
X 52% 60 3:5
s 52% 55 4.5
T T4% 80 3:10

What is the sum of the total production of maize by state X and T and total production of R2 type of Rice by state S and R?

TS X T T @RT Hefeh T el ScdTet o2l AT S TUT R GFRT R2 TR o ATl & Foel ScUleed bl T1IT 4T &2

Options:

1) 868500

2) 1025000

3) 925000

4) 892500

Correct Answer: 892500

Candidate Answer: [ NOT ANSWERED ]
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QID: 60 -

The table given below shows the production of maize by

5 different states as a percentage of total production.

Each state produces conly maize and rice. There are

three types of rice — R1, R2 and R3. The table also

shows the R1 type of rice produced as a percentage of

total rice production and the ratio of R2 and R3 type of

rice. Total production by each state is 625000,

#@r & o aferr 5 fafdesr o=t earwr fvr T w755
¥ ITNEA F FA 3eNeA F Gawd FFT F gl
Tl Yo TsT FId HFHI JUT TES FH & oued
FAT E TET F I TP - R1, R2 FUT R3 €| @
afeF R1 9FR ¥ I1ae F 396 H Fol TG F
INEA ¥ Siavd & ® # Ut ¥ FUT R2 FUT R3
YER ¥ TEE F NGO QA § THE T
ZAT F 3eEA 625000 ¥

State / T=T Maize /| AFHT | R1 R2:R3
H 32% 60 6:11
R 62% 60 9:10
X 52% 60 3:5
s 52% 55 4.5
T T4% 80 3:10

Production of R3 type of rice by state X is what percentage of production of R1 type of rice by state S?

TSI X GART R3 YR & T1ael &I 3cU1GT, T S GaNT R1 FHR & TGl & 3G T fohcdell Hfcierd &2

Options:

1) 45.45

2) 52.52

3)42.5

4)39.5

Correct Answer: 45.45

Candidate Answer: [ NOT ANSWERED ]
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QID: 61 -

The table given below shows the production of maize by

5 different states as a percentage of total production.

Each state produces conly maize and rice. There are

three types of rice — R1, R2 and R3. The table also

shows the R1 type of rice produced as a percentage of

total rice production and the ratio of R2 and R3 type of

rice. Total production by each state is 625000,

#@r & o aferr 5 fafdesr o=t earwr fvr T w755
¥ ITNEA F FA 3eNeA F Gawd FFT F gl
Tl Yo TsT FId HFHI JUT TES FH & oued
FAT E TET F I TP - R1, R2 FUT R3 €| @
afeF R1 9FR ¥ I1ae F 396 H Fol TG F
INEA ¥ Siavd & ® # Ut ¥ FUT R2 FUT R3
YER ¥ TEE F NGO QA § THE T
ZAT F 3eEA 625000 ¥

State / T=T Maize /| AFHT | R1 R2:R3
H 32% 60 6:11
R 62% 60 9:10
X 52% 60 3:5
s 52% 55 4.5
T T4% 80 3:10

A = Average of the R3 type of rice produced by state H, R, S and X together.
B = Difference between the R2 type of rice produced by state T and R1 type of rice produced by state R.

What is the value of B — A?

A =TT H, R, S T X ganT fAera 3cuifgd R3 TR & arael & 3iad|
B = T T &aRT 3cUIfgd R2 YR & ATl d2T A R EaRT 3cdTied R1 TR & Trael & 7L 3|

B — A & HIT T 87

Options:
1) 54750
2) 56750
3) 57500
4) 57000
Correct Answer: 57500

Candidate Answer: [ NOT ANSWERED ]
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QID: 62-

The table given below shows the production of maize by

5 different states as a percentage of total production.

Each state produces conly maize and rice. There are

three types of rice — R1, R2 and R3. The table also

shows the R1 type of rice produced as a percentage of

total rice production and the ratio of R2 and R3 type of

rice. Total preduction by each state is 625000,

#@rr & € afersr 5 Tfeew o=t g@r fFr o Ja
¥ 3UeA B F Io9EA F FoUd F T F quied
Tl UUF TS HIo AFHT FUT TG H A oA
FAT E TET F I TP - R1, R2 FUT R3 €| @
afeF R1 9FR ¥ I1ae F 396 H Fol TG F
IEA ¥ 9favd ¥ F9 F Ut ¥ FUT R2 FUT R3
YER ¥ TEE F NGO QA § THE T
ZAT F 3eEA 625000 ¥

State / T=T Maize /| AFHT | R1 R2:R3
H 32% 60 6:11
R 62% 60 9:10
X 52% 60 3:5
s 52% 55 4.5
T T4% 80 3:10

F = Total production of R2 type of rice by all the states.
K = Average of the total production of R1 type of rice by all the states.

What is the value of K/F?

F = @8l Tl gRT R2 YRR o ATael 3l Fel Scdree |
K = |l T=3T €@RT R1 Yo & TTael & el ScaTeet 1 3|

K/F =T AT 1 82

Options:
1) .875
2) 0.802
3) 0.08
4) .702

Correct Answer: 0.802
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - If x beakers of 100 ml containing 1:4 acid-water solution are mixed with y beakers of 200 ml containing 3:17 acid-water solution then the ratio of acid to
water in the resulting mixture becomes 19:91. Find x:y.

I 1:4 3rFer-aTelt & el & 100 A, arer x e &1 3:17 3el-arei arel wter 3 200 A0, arer y et # e sirar & a afomedt fsror #F 3rer 3R arelt 1 3regara
19:91 g ST &1 x:y AT |

Options:

1)5:3

2) 3:5

3)7:13

4) 13:7

Correct Answer: 5:3

Candidate Answer: [ NOT ANSWERED ]

QID : 64 - In what ratio should 20% ethanol solution be mixed with 40% ethanol solution to obtain a 28% ethanol solution?

28% SaATeT HleT TTCd et & TIT 20% SAeATer BleT I 40% FA=Ter aiet & AT et 3egarel 7 FAfAe o s =nfew?
Options:

1) 2:3

2) 8:5

3)3:2

4)5:8

Correct Answer: 3:2

Candidate Answer: 3:2
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QID : 65 - A and B start a business by investing equal amounts. Four months later, C joins them by investing Rs 3.5 lakhs. By withdrawing his investment in the
business B leaves the business 4 months after C joined. At the end of the year the business makes Rs 62,400 profit out of which A collects Rs 24,000 as his share of
profit. How much should be paid to C (in Rs) as his share of profit?

A 3R B FHT AT # Ya Y fAder 2 Uoh sqadrT g% Fd 81 IR Jgl a1G C 3.5 o1 & fder steh 37 enffel giar &1 C gany enffiel gl & 4 7 a1 frsarg #
¥ 379 fAALY T aTIH JIFT B 3T TG Y BIS ST § | ATl & 37T H sIIATT 62,400 T T AT WIS T g, o asd T A &Y 24,000 FIJ T 19 fHerar &1 omeT F 3197
&0 & &9 H C (3 &) T ohear §aTeiiat o i =nige?

Options:

1) 16000

2) 32000

3) 22400
4) 27800

Correct Answer: 22400
Candidate Answer: [ NOT ANSWERED ]

QID : 66 - A and B invest in a business in the ratio 3 : 7. The business makes a profit of Rs 60,000 in 1 year. They decide to distribute the profit remaining after
reinvesting 40% of the profit. How much will A get (in Rs)?

A 3R B 3:7 & 3] & Ueh cga@rd & fAder a3t §1 a8 cga@rg 1 Aol # 60,000 & T A1 HATT &1 Segied oot T 40% Toeam T & fder ot & arer ofrer 1 faaRa
F T fAoTT form &1 A Y fvcaTr grea ghem (3 #)?

Options:

1) 25200

2) 15600

3) 10800
4) 20400

Correct Answer: 10800
Candidate Answer: 10800

QID : 67 - A can do a work in 72 days and B in 90 days. If they work on it together for 10 days, then what fraction of work is left?

A 72 AT 7 T HTH R ThaT & 3R B 3/ 90 ot & T TohaT §1 IR 3 10 AT & forw v @12y e 3 &€, aY 1T 1 AT 372r a7 SIRem?
Options:

1) 3/4

2) 1/4

3) 4/5

4)5/6

Correct Answer: 3/4

Candidate Answer: 3/4

QID : 68 - A is thrice as good a workman as B. C alone takes 48 days to paint a house. All three A, B and C working together take 16 days to paint the house. It will
take how many days for B alone to paint the house?

A, B T JeIaT # lieT T[T 3resT SR & memaﬁﬁtm%ﬁv%ﬁ?ﬁaﬂmm%lwmmmgm B 3R C &I 39 X & Uc &tat & 16 feaT
TR B | 37 &R Y YT el & TolT 31hel B &Y fohciel et ofatar?

Options:

1) 32

2) 64

3)9

4)72

Correct Answer: 96

Candidate Answer: 96

QID : 69 - Cis 5 times as productive as B. A takes 60 days to complete a task. If A, B and C work together they can complete the task in 12 days. In how many
days can B complete the task if he worked alone?

C, B &Y olell # 5 T[T 3cUIceh &1 A Y Teh i QU &lel A 60 a7 orarer €1 afe A, B 3R C var a1y &1 ot § ot 3 12 il & a8 1 U X Fehl §| 3hel 1A Xl
§U B fohctet el 31 g o1 1 &% Hehell 82

Options:

1) 18

2) 27

3) 90

4)72

Correct Answer: 90

Candidate Answer: 90
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QID : 70 - A can complete 50% of a job in 9 days and B can complete 25% of the job in 9 days if they worked alone. If they worked together how much of the job
(in %) can they complete in 9 days?

A 9 T 7 50% FHH I T Tl § 3R B 9 Rl 3 37 1T &7 25% T X TFhall §, IS I Hahel-3ehel HIH L ¢ IS T T A1 H1H A § ar 9 T 3 Rrctetr et
(% 3T) 97 &Y Fhll &2

Options:

1) 80

2) 90

3)75

4) 100

Correct Answer: 75

Candidate Answer: 75

QID : 71 - Giving two successive discounts of 60% is equal to giving one discount of %.

60% ST FTAR &l f3EH3e &t % % T fZEHRBC &t o TR &
Options:

1) 90

2)72

3) 96

4) 84

Correct Answer: 84

Candidate Answer: 84

QID : 72 - If an item marked at Rs 480 is being sold at Rs 400, then what is the effective discount on the item?

3R 480 T TR 3ifehd Ush 3TTSEH ot 400 & 3 o4 ST T@T & al 3 MSTH TN JHTET B T §?2
Options:

1) 20

2) 16.67

3) 25

4) 15

Correct Answer: 16.67

Candidate Answer: 16.67

QID : 73 - On an item there is cash 5% discount on the marked price of Rs 25,000. After giving an additional season's discount the item is sold at Rs 20,900. How
much was the season's discount (in %)?

TRl 3 TR 25,000 & & 3ifehd Fedr T 5% Y Farer ge &1 1S &1 T Afafar disiet BERE3T &of & a1a a5 3MecH 20,900 & 3 9T 1T § | Hotel o1 SEhrse
TohdaTT T (% #)?

Options:

1) 11

2)10

3)12

4)9

Correct Answer: 12

Candidate Answer: 12

QID : 74 - A retailer marks up his goods by 20% and then offers 25% discount. What will be the selling price on an item that he sells if its cost price (in Rs) is Rs
2500?

Teh e faishdl 20% deh 3T9eT HIAT I 3HTehd T & AR T 25% e 2T &1 3 ZaRT ol STeT dTell Teh g T Tl AT (T H) F97 8, 3R SHh! ATl HIAT
2500 T §?

Options:
1) 2400
2) 3000
3) 2750
4) 2250

Correct Answer: 2250
Candidate Answer: 2250

QID : 75 - Find two numbers such that their mean proportional is 18 and the third proportional to them is 144.

ar U HEATHT T AT hY FolaTeht 3 3Tegarferen 18 3R ey seurfereh 144 &
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Options:
1) 6 and 42
6 3 42
2)9and 36
931k 36
3)3and 18
33k 18
4) 6 and 12
6 3R 12

Correct Answer: 9 and 36

9 3k 36

Candidate Answer: 9 and 36

9336

QID:76-If6A=4B=9C;findA:B:C

3R 6A =4B =9C; aTA: B: CaATd &I
Options:

1) 6:4:9

2) 6:9:4

3) 4:9:6

4) 9:6:4

Correct Answer: 6:9:4

Candidate Answer: 6:9:4

QID : 77 - Find the third proportional to 10 and 25.

10 3R 25 o7 AXERT HTaTTcR #ATel Y|
Options:

1) 2.5

2) 62.5

3)40

4) 100

Correct Answer: 62.5

Candidate Answer: 62.5

QID : 78 - A purse has Rs 34.5 in the form of 1-rupee, 50-paise and 10-paise coins in the ratio of 6:9:10. Find the number of 10-paise coins.

T T8 H 1%, 50 98 3 10 U faerh & ®9 # 6:9:10 & 3e91el & 34.5 T &1 10-98 & ffepent & Feam =1 Y|
Options:

1) 10

2) 30

3)20

4) 40

Correct Answer: 30

Candidate Answer: [ NOT ANSWERED ]

QID : 79 - What number should be added to each of the numbers 103, 135, 110 and 144 so that the resulting numbers are in proportion?

103, 135, 110 3R 144 & Y TEIT 3 Hiedl HEAT ST AT AT R Srereh IROTATTEY GTeet HEAT 77Tl o &i?

Options:

1) 12

2) 15

3)9

4)6

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 80 - When ticket prices to a water park are increased in the ratio 11:12 then the number of daily visitors to the park fall in the ratio 8:7. If the daily revenues
before the increase in ticket price was Rs 176,000, then find the daily revenues after the increase in ticket price.

ST U afex urd # e i 1A 11:12 & He9Td 7 F¢18 1% o 91 7 I aTer & Aeigen! 1 6T 8:7 & Igurd F B el §| afE Rae Hr foa A gy FA
qﬁéﬁ?mﬂs,oooxm,Eﬁﬁmﬁﬁﬂﬁﬁaﬁmﬁ*ﬁﬁmg&ﬂmmmﬁl

Options:

1) 264000

2) 112000

3) 192000
4) 168000
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Correct Answer: 168000
Candidate Answer: 168000

QID : 81 - The average weight of X, Y and Z is 74 kg. If the average weight of X and Y be 68 kg and that of Y and Z be 78 kg, then the weight (in kg) of Y is

X, Y 3R Z 1 39 aoteT 74 R, &1 3R X 3R Y 7 3iad gt 68 .. g 3R Y 31 Z 1 it aoter 78 LA, &Y, v Y &1 geie (. am. #) gl
Options:

1) 72

2) 70

3) 68

4) 66

Correct Answer: 70

Candidate Answer: 70

QID : 82 - Of the 3 numbers whose average is 26, the first is 2/11 times the sum of other two. The first number is:

3 FEaT3i &1 e 26 §, o1 ¥ gael HEam gEil ar HEAT3T & AT &7 2/11 3 9T §| Il HEAT
Options:

1) 16

2)13

3)11

4)12

Correct Answer: 12

Candidate Answer: 12

QID : 83 - The average weight of a class of 50 students is 48.6 kg. If the average weight of the 20 boys is 54 kg, then find the average weight (in kg) of the girls in
the class.

50 ST &Y T FT AT goteT 48.6 fh. 91T, ¥l 3PR 20 oI5 FT 3NAT oteT 54 .3, &, aF Fa1w 7 oy aisferat & 3iaa g (fr.am. &) 7d #3)
Options:

1) 40

2) 46

3)45

4) 42

Correct Answer: 45

Candidate Answer: 45

QID : 84 - The average of all odd numbers from 113 to 159 is

113 & 159 T & Faft s desit & g gl
Options:

1) 135

2) 134

3) 133

4) 136

Correct Answer: 136

Candidate Answer: 136

QID : 85 - A trader buys jowar at Rs 30 per kg. 20% of the grain gets wasted. He plans to sell the remaining grain so that he makes 40% overall profit. At what
price (in Rs per kg) should he sell the grain?

Teh SATIRY 30 T 9 6.9, FiI ex & AR TASAr §1 39 3711 T 20% T2 &1 ST &1 98 AT 31ATST Y 5T g F Set ST JIoTeAT SATdT § dTieh a8 40% THIAT AT FAT
| 38 e FHa W) (% 9fa fh.am.) 3= & sgar arige?

Options:

1) 48

2) 50

3) 52.5

4)47.5

Correct Answer: 52.5

Candidate Answer: 52.5

QID : 86 - If a vendor sells a watermelon at Rs 69 he makes 8% loss. If he wants to make 16% profit then at what price (in Rs) should he sell?

IR IS TSl 69 T 3 T gt ool ¢ df 3¢ 8% THAT gicl §| & T8 16% FATHT FHaAlall =Tecll ¢ f 36 T RSl el HiFAd O (T ) J=a Anfgu?

Options:
1)91
2)83
3) 87
4)79

http://thepracticetest.in/cs_cglet2_18lrdsponsh @aedtidnbpha?diejsnt codbS30 T8t a=MDkwMAWNTE Beppid1358062d74107fc05177712c90c3885¢



4/13/2018 Download More Papers $tafiSelectionGontmisiot Jobs Alert.In

Correct Answer: 87
Candidate Answer: 87

QID : 87 - The cost of 25 items is the same as the revenue earned by selling x items. Find ¥, if the profit made in the transaction is 25%.

25 3TSTH T HIFT X IMSTH TR 3T T IS 3T o S]] & X T Y, A §8 AT F GTeet HT 18T 25% ¢
Options:

1) 25

2) 16.67

3) 20

4)32

Correct Answer: 20

Candidate Answer: 16.67

QID : 88 - An item is sold for Rs 7130 making a 15% profit. What is the cost price (in Rs) of this item?

T AG 7130 & H 4T ST1T § ToHEH 15% @1 BT §| 36 AG H1 RIS Hod (3 ) FT 82

Options:

1) 6000

2) 6125

3) 6250

4) 6200

Correct Answer: 6200

Candidate Answer: 6200

QID : 89 - 0.02% of 150% of 600 is:

600 & 150% T 0.02% &:

Options:

1)0.18

2)1.8

3)18

4) 0.018

Correct Answer: 0.18

Candidate Answer: 0.18

QID : 90 - When a number is increased by 40, it becomes 125% of itself. What is the number?

SIS P TEAT 40 T T &1 ST &, A I8 TaT H 125% 8 Sl §1 I8 TEAT 4T 87
Options:

1) 200

2) 60

3) 160

4) 100

Correct Answer: 160

Candidate Answer: 160

QID : 91 - In an exam of 300 marks a student gets 75 marks. If she had scored 6 more marks she would have attained passing percentage. What is the passing
percentage?

300 37ehi T T GAETT H Tk STF I 75 3ich Ao 1 3R 3T 6 3 31 ITT gl at a8 Scaol gl T UfArd Ued Y ofdT &1 Scdiol gl Ao gfaRrd &1 g7
Options:

1) 25

2)30

3)35

4) 27

Correct Answer: 27

Candidate Answer: 27

QID : 92 - A man's annual income has increased by Rs 2 lakhs but the tax on income that he has to pay has reduced from 20% to 16%. He now pays the same
amount of tax as before. What is his increased income (in Rs lakhs)?

Teh STl Y d1¥eh 3T 2 S & A §& &, Afhel 37 3 R o, TIGHT 3 1A AT & a8 20% F 16% T e 81 91T §| I8 37 Tg el Y kg & < T ATl
T &1 3T S §% 3T (1 & ) 1 &2

Options:

1)8

2)10

3)12

4)6

http://thepracticetest.in/cs_cglet2_18lrdsponsh @aedtidnbpha?diejsnt codbS30 T8t a=MDkwMAWNTE Beppid1358062d74107fc05177712c90c3885¢



4/13/2018 Download More Papers $tafiSelectionGontmisiot Jobs Alert.In

Correct Answer: 10
Candidate Answer: 10

QID : 93 - A car covers 630 km in 20 hours. Calculate its average speed in meters/second?

Teh X 20 Eel # 630 foh. . 1 g a7 Al ¥ Hiex / @ehs # 3@ 3 Tfey ¥ 0T B2

Options:
1) 8.25
2)7.75
3)8.75
4)7.25

Correct Answer: 8.75
Candidate Answer: 8.75

QID : 94 - A jet ski goes upstream at a speed of 48 km/hr and comes back the same distance at 80 km/hr. Find the average speed (in km/hr) for the total journey.

Teh SIc T 48 .70, gfel 6 1 a1fer & o 3 307 Sirelt & 317 80 Tom.al, gfer e ahr a1fey & 3¢t gt o) arordy 31Tl 81 el 11 & forw 3wkt 3ivaet arfar (.. / wier #)
¥ IT0TAT A |

Options:

1) 64

2) 62

3) 66

4) 60

Correct Answer: 60

Candidate Answer: 60

QID : 95 - A bullet fired from a rifle travels at an average speed of 2520 km/hr. It hits the target after 0.2 seconds. How far (in m) is the target from the rifle?

T el # 2520 f.7. gfe ger & TR & v Ml grl 71 7 0.2 Vs F d1g o8y A e Xl ol Ushal ¥ a8 fohestt gy (. #) &2
Options:

1)70

2) 140

3) 100

4) 200

Correct Answer: 140

Candidate Answer: 140

QID : 96 - Train A and B start at the same time. Train A travels at 55 km/hr from station X to station Y and train B travels at 80 km/hr from station Y to station X.
They cross each other after 1 hour and 36 minutes. What is the distance (in km) between stations X and Y?

&1 A 3R B U €1 GHT & YE EIch 8| o7 A T X U T Y e 55 b, A1, / Tt T a1l & A Al § 3R T B T Y F T X ek ¥ AT 80 fRLAT, / e v
aTfer @ el §1 9 U E¢ 3R 36 TReTe & a16 Ueh q@Y i U el 81 ¥ X 3R Y & v gt (e, o) s 2

Options:

1) 196

2)232

3) 240

4) 216

Correct Answer: 216
Candidate Answer: 216

QID : 97 - If in 2 years at simple interest the principal increases by 16%, what will be the compound interest earned (in Rs) on Rs 25,000 in 2 years at the same
rate?

7 2 af 7 ATRUT sATST Y X § HerueT A 16% T g gie 8, o IH &7 & 2 anf 7 25,000 & W TSI GhgfE <A1t (¥ H) a1 gran?

Options:
1) 4000
2) 2160
3) 2000
4) 4160

Correct Answer: 4160
Candidate Answer: 4160

QID : 98 - If compound interest received on a certain amount in the 2nd year is Rs 250. What will be the compound interest (in Rs) for the 3rd year on the same
amount at 12% rate of interest?

I g@y a¥ # v ARad uflr w¥ ured wengfie sarsr 250 % 81 ey av & faw 3¢ T o 12% 31T &X & g fE st (T #) a3 gham?
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Options:
1) 250
2) 300
3) 280
4) 270

Correct Answer: 280
Candidate Answer: 280

QID : 99 - What is the difference (in Rs) between the compound interests on Rs 12,500 for 1 year at 8% per annum compounded yearly and half-yearly?

12,500 % 9¥ 1 @ & AT 8% T & & Al iR SHTEY 0T et W it 9 Tshgfie sarel & o & &1 ¥ (T #) gem?
Options:

1) 16

2)25

3) 20

4) 40

Correct Answer: 20

Candidate Answer: 20

QID : 100 - The amount received at 8% per annum compound interest after 2 yrs is Rs 72,900. What was the principal (in Rs)?

2 a¥ & d1E 8% Ay Tehqgfg saTeT TR TTedt TR 72,900 ¥ § Ferer (T ) 4T A1

Options:
1) 65000
2) 67500
3) 60000
4) 62500
Correct Answer: 62500

Candidate Answer: 62500
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